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Observable Constraint Likelihood function

Comment
µi(θ) Dnon-DCS

i L[Dnon-DCS
i |µi(θ)]

1 B(b→ sγ) [? ] (3.43± 0.21stat ± 0.24th ± 0.07sys)× 10−4 Gaussian reweight
2 B(Bs→ µµ) [? ] (2.9± 0.7± 0.29th)× 10−9 Gaussian reweight
3 R(B→ τν)[? ] 1.04± 0.34 Gaussian reweight
4 ∆aµ [? ] (26.1± 6.3exp ± 4.9SM ± 10.0SUSY)× 10−10 Gaussian
5 αs(mZ) [? ] 0.1184± 0.0007 Gaussian
6 mt [? ] 173.20± 0.87stat ± 1.3sys GeV Gaussian reweight
7 mb(mb) [? ] 4.19+0.18

−0.06 GeV Two-sided Gaussian

8 mh LHC: mlow
h = 120 GeV, mhigh

h = 130 GeV
1 if mlow

h ≤ mh ≤ mhigh
h reweight

0 if mh < mlow
h or mh > mhigh

h

9 µh CMS and ATLAS in LHC Run 1, Tevatron LILITH 1.01 [? ? ] post-MCMC

10 sparticle masses
LEP [? ] 1 if allowed

(via MICROMEGAS [? ? ? ]) 0 if excluded


